



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 7th Semester, Section B, Evening, Session Autumn 2025

Registration #	Name	CSC 425-1					CSC 503					HUM201					PRJ601					SSE 507					SSE 611				
		Human Computer Interaction					Artificial Intelligence					Technical & Business Writing					Final Year Project (Phase-I)					Parallel and Distributed Computing					Data Science				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
2022-Agr-U-51376	Noorwai Khan (3 Deficiency & 5th	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	97	A	4.0	3	12.0	80	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0262	Abdul Rehman	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	91	A	4.0	3	12.0	87	A	4.0	3	12.0	80	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0264	Ahmed Sher	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	83	A	4.0	3	12.0	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0265	Ahsan Irfan (Withheld due to Fee D	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-E-B-0266	Ali Abbas	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	89	A	4.0	3	12.0	70	B	3.0	3	9.0	
B.S CS Aut-2022-E-B-0267	Arslan Shoukat	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	72	B	3.0	3	9.0	65	C+	2.5	3	7.5	
B.S CS Aut-2022-E-B-0268	Ayesha Ahsan	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	88	A	4.0	3	12.0	86	A	4.0	3	12.0	81	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0269	Daima Kahlid	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0270	Daniyal Zahid	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	88	A	4.0	3	12.0	94	A	4.0	3	12.0	80	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0271	Dua Fatima	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	92	A	4.0	3	12.0	81	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0273	Hamza Saeed	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	F	-	3	-	
B.S CS Aut-2022-E-B-0274	Haroon Akash	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	83	A	4.0	3	12.0	71	B	3.0	3	9.0	
B.S CS Aut-2022-E-B-0275	Hassan Jalil Awan	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	79	B+	3.5	3	10.5	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0276	Humair Rasheed	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	84	A	4.0	3	12.0	82	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0277	Huzafah Sarwar Dogar (One Paper	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	
B.S CS Aut-2022-E-B-0278	Mazhar Abbas	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	
B.S CS Aut-2022-E-B-0281	Muqaddas Saleem	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	79	B+	3.5	3	10.5	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0282	Nabeel Ali	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	90	A	4.0	3	12.0	85	A	4.0	3	12.0	83	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0284	Qamar Abbas	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	83	A	4.0	3	12.0	82	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0285	Raheel Kamran	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	90	A	4.0	3	12.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0287	Saad Rana (Withheld due to Fee D	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-E-B-0289	Sheikh Atif Ahmed	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	89	A	4.0	3	12.0	83	A	4.0	3	12.0	77	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0292	Syed Muhammad Hassan Askari	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	95	A	4.0	3	12.0	94	A	4.0	3	12.0	84	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0294	Usama Ikhlaq	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	81	A	4.0	3	12.0	77	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0295	Waheedullah Khan	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	96	A	4.0	3	12.0	88	A	4.0	3	12.0	81	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0296	Waleed Asghar	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0299	Daud Dildar Chaudhary	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	77	B+	3.5	3	10.5	65	C+	2.5	3	7.5	
B.S CS Aut-2022-M-B-0075	Aneela Khanum	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	89	A	4.0	3	12.0	81	A	4.0	3	12.0	
B.S CS Aut-2022-M-B-0083	Farida	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	89	A	4.0	3	12.0	82	A	4.0	3	12.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 7th Semester, Section B, Evening, Session Autumn 2025

		SSE606					
		Advanced Programming					
		Obtained	Grade	GP	Credits	Product	
2022-Agr-U-51376	Noorwali Khan (3 Deficiency & 5th	70	B	3.0	3	9.0	
B.S CS Aut-2022-E-B-0262	Abdul Rehman	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0264	Ahmed Sher	55	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0265	Ahsan Irfan (Withheld due to Fee D						
B.S CS Aut-2022-E-B-0266	Ali Abbas	57	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0267	Arslan Shoukat	50	D	1.5	3	4.5	
B.S CS Aut-2022-E-B-0268	Ayesha Ahsan	55	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0269	Daima Kahlid	50	D	1.5	3	4.5	
B.S CS Aut-2022-E-B-0270	Daniyal Zahid	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0271	Dua Fatima	60	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0273	Hamza Saeed	50	D	1.5	3	4.5	
B.S CS Aut-2022-E-B-0274	Haroon Akash	56	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0275	Hassan Jalil Awan	55	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0276	Humair Rasheed	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0277	Huzafah Sarwar Dogar (One Paper	55	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0278	Mazhar Abbas	65	C+	2.5	3	7.5	
B.S CS Aut-2022-E-B-0281	Muqaddas Saleem	60	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0282	Nabeel Ali	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0284	Qamar Abbas	65	C+	2.5	3	7.5	
B.S CS Aut-2022-E-B-0285	Raheel Kamran	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0287	Saad Rana (Withheld due to Fee D						
B.S CS Aut-2022-E-B-0289	Sheikh Atif Ahmed	75	B+	3.5	3	10.5	
B.S CS Aut-2022-E-B-0292	Syed Muhammad Hassan Askari	70	B	3.0	3	9.0	
B.S CS Aut-2022-E-B-0294	Usama Ikhlaq	58	C	2.0	3	6.0	
B.S CS Aut-2022-E-B-0295	Waheedullah Khan	81	A	4.0	3	12.0	
B.S CS Aut-2022-E-B-0296	Waleed Asghar	70	B	3.0	3	9.0	
B.S CS Aut-2022-E-B-0299	Daud Dildar Chaudhary	15	F	-	3	-	
B.S CS Aut-2022-M-B-0075	Aneela Khanum	76	B+	3.5	3	10.5	
B.S CS Aut-2022-M-B-0083	Farida	75	B+	3.5	3	10.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 7th Semester, Section B, Evening, Session Autumn 2025

Registration #	Name	CSC 425-1					CSC 503				HUM201					PRJ601					SSE 507					SSE 611					
		Human Computer Interaction					Artificial Intelligence				Technical & Business Writing					Final Year Project (Phase-I)					Parallel and Distributed Computing					Data Science					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0087	Ibrahim Khalil (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-B-0095	Muhammad Akhtar Hussain	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	91	A	4.0	3	12.0	83	A	4.0	3	12.0	
B.S CS Aut-21-Eve-0181	Shehryar Ahmed Khan	70	B	3.0	3	9.0	74	B	3.0	4	12.0	-	-	-	-	-	65	C+	2.5	3	7.5	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5
B.S CS SP-2022-M-A-0011	Farhan Haider	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	
B.S CS SP-2022-M-B-0099	Sajawal Khan	70	B	3.0	3	9.0	-	-	-	-	-	70	B	3.0	3	9.0	88	A	4.0	3	12.0	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5
B.S CS SP-2022-M-B-0106	Waseem Hassan Khan	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	90	A	4.0	3	12.0	77	B+	3.5	3	10.5	
BS CS SP-21-M-B-0088	Nouman Hussain	60	C	2.0	3	6.0	71	B	3.0	4	12.0	-	-	-	-	-	55	C	2.0	3	6.0	59	C	2.0	3	6.0	50	D	1.5	3	4.5

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 7th Semester, Section B, Evening, Session Autumn 2025

		SSE606					
		Advanced Programming					
		Obtained	Grade	GP	Credits	Product	
B.S CS Aut-2022-M-B-0087	Ibrahim Khalil (Withheld due to Fee)						
B.S CS Aut-2022-M-B-0095	Muhammad Akhtar Hussain	75	B+	3.5	3	10.5	
B.S CS Aut-21-Eve-0181	Shehryar Ahmed Khan	42	F	-	3	-	
B.S CS SP-2022-M-A-0011	Farhan Haider	50	D	1.5	3	4.5	
B.S CS SP-2022-M-B-0099	Sajawal Khan	65	C+	2.5	3	7.5	
B.S CS SP-2022-M-B-0106	Waseem Hassan Khan	58	C	2.0	3	6.0	
BS CS SP-21-M-B-0088	Nouman Hussain	50	D	1.5	3	4.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026